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Q.1 Select the letter-cluster that will replace the question mark (?) in the given series and
make it logically complete.
WFJ, XHM, YJP, ZLS, ?

Ans X 1.CNW
o 2. ANV
< 3.BMU
X 4.BNW

Question ID : 26433056555
Status : Answered
Chosen Option : 2

Q.2 In a code language, 'RAJAT' is coded as UCMCW and 'NIRAJ' is coded as QKUCM.
How will 'MUKUL' be coded in the same language?

Ans 4 1. PWNWO
X 2. OXMXN
< 3. PWNXO
2 4. OXNWO

Question ID : 26433057906
Status : Answered
Chosen Option : 1




Q.3 Select the option that will replace the question mark (7) in the figure given below to complete the pattem.

\n.

R
<EE
<<
il

Ans

AN

o 2

X3

X 4.

Question ID : 26433085405

Status : Answered

Chosen Option : 2

Q.4 Which two symbols from amongst the given options should be interchanged to make
the given equation correct?
(35+7%50)+11x1+3=18

Ans X 1.+and-
K 2.+and +
3. xand +
" 4.+ and x

Question ID : 26433067685

Status : Answered

Chosen Option : 4




Q.5 A lies to the north-west of C and north of D. If B is to the east of A, what is the position
of D with respect to B?

Ans o 1. South-west
7 2. North
X 3. East
#5 4. North-east

Question ID : 26433068363
Status : Answered
Chosen Option : 1

Q.6 Select the set in which the number are related in the same way as the numbers of the
given sets. (NOTE : Operations should be performed on the whole numbers, without
breaking down the numbers into its constituent digits. E.g. 13 — Operations on 13 such
as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into
1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(9,7, 189)
(4, 13, 156)

Ans X 1.(5,9, 160)
& 2.(6,9, 162)
X 3.(8,5,125)
X 4.(7,8,188)

Question ID : 26433069105
Status : Answered
Chosen Option : 2

Q.7 Select the word-pair that best represents a similar relationship to the one expressed in

the pair of words given below.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/vowels in the

word.)
Passenger : Bus

Ans o 1. Aeronaut : Hot air balloon
#< 2. Pirate : Ship
2 3. Pilot : Aircraft
X 4. Astronaut : Aircraft

Question ID : 26433092957
Status : Answered
Chosen Option : 2

Q.8 Select the option that represents the letters which, when placed from left to right in the
blanks below, will complete the letter series.
B_EES_ED_LE__SEDB_EESSE_

Ans X 1.SEBESLD
X 2.EBSESLD
& 3.LSBESLD
X 4EEBSSLD

Question ID : 26433068442
Status : Answered
Chosen Option : 3




Q9 How many triangles are there in the given figure?

Ans X 1.26
o 2.24
X 3.22
X 4.28

Question ID : 26433066235
Status : Marked For Review
Chosen Option : 2

Q.10 If A denctes “+', B denates “=', € denotes *—", and I denates *+', then what will be the valwe of the following expression”
S oA 2 C ND4AB T= ?

Ans X 1.134
& 2.123
X 3.124
X 4.151

Question ID : 26433085379
Status : Answered
Chosen Option : 2

Q.11 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers into its constituent digits. E.g. 13- Operations on 13 such as
adding/subtracting/multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is not allowed.)
(4, 60, 5)
(5, 90, 6)

Ans o7 1.(7,84,4)
X 2.(9,63,2)
X 3.(11,132,6)
X 4.(3,72,6)

Question ID : 26433057455
Status : Answered
Chosen Option : 1




Q.12 Select the correct combination of mathematical signs to replace the * signs and to
balance the given equation.
52*4*38*5*5*0

Ans X1,x,x‘+,=,x

#2_+,:’—Yx,+
X3_x’+,+’:,—
K+ = - +x

Question ID : 26433069679
Status : Answered
Chosen Option : 2

Q.13 Sunny drives 3 km towards west from point A. He then takes a right turn and drives 6
km. Again, he takes a right turn and drives 3 km. Finally, he takes a left turn and drives
3 km to reach point B. How far and towards which direction should he drive now in
order to reach point A again?

Ans & 1.9 km towards south
2. 8 km towards west
25 3.7 km towards north
25 4.6 km towards east

Question ID : 26433091677
Status : Answered
Chosen Option : 1

Q.14 In a certain code language, 'NORTHERN’ is written as 'RONEHTRN' and 'OPPONENT" is
written as 'PPOENONT'. How will 'ORGANIZE' be written in that language?

Ans X 1. GROIANZE
X 2. GROINAEZ
«" 3. GROINAZE
< 4. GRIONAZE

Question ID : 26433067314
Status : Answered
Chosen Option : 3




Q15 Select the figure that will replace the question mark (?) in the following figure series.

* <lo
O =1 ¢ | ?
8] @] +
Ans
<
x| <=
O
[ C]I
2 <
Io i
O
X3 <>
¢

Question ID : 26433057015

Status : Answered

Chosen Option : 2

Q.16 Select the set in which the numbers are related in the same way as the numbers of the
given sets. (NOTE : Operations should be performed on the whole numbers, without
breaking down the numbers into its constituent digits. E.g. 13 — Operations on 13 such
as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into
1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(20, 16, 8)
(10, 13, 12)

Ans o 1.(32,27,18)
X 2.(13, 16, 13)
% 3.(14, 18, 16)
X 4.(19, 18, 21)

Question ID : 26433069228

Not Attempted and

Status : Marked For Review

Chosen Option : --




Q.17 Three Statements are given followed by Four conclusions numbered |, II, lll and IV.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

Some curtains are pillows.
No pillow is a bedsheet.
Some curtains are bedsheets.

Conclusions:

I. No curtain is a bedsheet.

1l. No pillow is a curtain.

1. Some bedsheets are curtains.
IV. Some pillows are curtains.

Ans X 1. All conclusions follow.
25 2. Both conclusions Il and IlI follow.
" 3. Both conclusions Il and IV follow.

/< 4. Both conclusions | and Il follow.

Question ID : 26433093157
Status : Answered
Chosen Option : 3

Q.18 Three of the following four letter-clusters are alike in a certain way and one is different.
Pick the odd one out.

Ans o 1. RVV
X 2. ADW
/< 3.EHS
25 4. JVUN

Question ID : 26433068784
Status : Answered
Chosen Option : 1

Q.19 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
number.
24:15::32:?::46: 26

Ans X 1.23
& 2.19
X 3.21
X 4.17

Question ID : 26433067888
Status : Answered
Chosen Option : 2

Q.20 Which two numbers from amongst the given options should be interchanged to make
the given equation correct?
(63+9+17)+11=15-195+17-2

Ans X 1.11and 15
" 2.17 and 15
2 3.195and 63
X 4.2and 15

Question ID : 26433067687
Status : Answered
Chosen Option : 2




Q.21 If A denotes ‘+’, B denotes ‘x’, C denotes ‘~’, and D denotes ‘+’, then what will come in
place of ‘?’ in the following equation?
146 A4B2=73B?A8

Ans X 1.1
X 26
3.2
X 4.4

Question ID : 26433067668
Status : Answered
Chosen Option : 3

Q.22 Which of the following numbers will replace the question mark (?) in the given series?
64, 67,76, 103, ?

Ans X 1.145
X 2.194
o 3.184
X 4.154

Question ID : 26433067618
Status : Answered
Chosen Option : 3

Q.23 Three statements are given followed by three conclusions numbered I, Il and Ill.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

All dates are cashews.

All cashews are raisins.
Some raisins are almonds.

Conclusions:

I. All almonds being dates is a possibility.
1l. All dates are raisins.

Ill. No cashew is an almond.

Ans X 1. Only conclusion Il follows
%" 2. Only conclusions | and Il follow
2 3. Only conclusions Il and 1l follow

25 4. Only conclusion Il follows

Question ID : 26433058052
Status : Answered
Chosen Option : 2

Q.24 Pointing at a man, Neeta said, “He is my son’s sister’s father’s mother’s husband.”
How is that man related to Neeta?

Ans X 1.Father
/5 2. Brother
X 3. Father’s father

& 4. Father-in-law

Question ID : 26433085675
Status : Answered
Chosen Option : 1




Q.25 Select the set in which the numbers are related in the same way as the numbers of the
given sets. (NOTE : Operations should be performed on the whole numbers, without
breaking down the numbers into its constituent digits. E.g. 13 — Operations on 13 such
as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into
1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)
(12,9, 4)

(18,9, 6)

Ans X 1.(20, 12, 10)
% 2.(14,10,7)
X 3.(15,12,7)
o 4.(12, 16, 3)

Question ID : 26433069227
Status : Answered
Chosen Option : 4

Q.26 Select the Venn diagram that best illustrates the relationship between the following
classes.
Advertisement, Radio, TV

Ans

x 1.

x 3.

BEe

Question ID : 26433068652
Status : Answered
Chosen Option : 2




Q.27 Select the Venn diagram that best illustrates the relationship between the following
classes.
Coding, Javascript, Fortran

Ans
x1.
- .
x4@

Question ID : 26433068651
Status : Answered
Chosen Option : 3

Q.28 ‘P % Q’ means ‘P is the brother of Q.
‘P @ Q’ means ‘P is the daughter of Q’.
‘P + Q’ means ‘P is the father of Q.
‘P ? Q’ means ‘P is the husband of Q'.
IfA%B@D+E ?C, then how is A related to C?

Ans X 1. Sister
4" 2. Husband’s brother
X 3. Husband’s sister
X 4. Brother

Question ID : 26433091632
Status : Answered
Chosen Option : 2




Q.29 Select the figure that will replace the question mark (?) in the following figure series.

@ Al
O [ ] O ?
@ Y O
Ans [:]
X1 B
JA
O
&2 [ |
>
x 3. D
O D

A
‘D\
A O

Question ID : 26433057006
Status : Answered
Chosen Option : 2

Q.30 Which of the following numbers will replace the question mark (?) in the given series?
40, 53, 68, ?, 104, 125, 148

Ans 4 1.85
X 2.86
X 3.72
X 4.74

Question ID : 26433067621
Status : Answered
Chosen Option : 1

Q.31 Seven people P, Q, R, S, T, U and V are sitting in a straight row, facing north. Exactly
three people are sitting to the left of U. R is second to the left of U. Q and V are
immediate neighbours of R, such that Q is not an immediate neighbour of U. T and P
are not occupying either of the end seats. T is second to the left of S. If P and Q swap
their seats, what will be the new position of Q?

Ans X 1. Second to the right of R
5 2. Second to the left of V
25 3. Third to the left of U

" 4. Second to the right of U

Question ID : 26433091436
Status : Answered
Chosen Option : 4




Q.32 In a certain code language, 'MAY’ is coded as '6' and 'MET' is coded as '7". How will
'HIM' be coded in that language?

Ans X 1.7
X 25
3.6
X 4.8

Question ID : 26433067323
Status : Answered
Chosen Option : 3

Q.33 What was the day of the week on 10th October 20217
Ans X 1. Monday

" 2. Sunday

& 3. Friday
X 4. Wednesday

Question ID : 26433093107
Status : Answered
Chosen Option : 2

Q.34 Select the option that represents the correct order of the given words as they would
appear in an English dictionary.
1.Reason
2.Realise
3.Reader
4.Reap
5.Reaction
6.Rearrange

Ans X 1.53,2,4,1,6
< 253,26 4,1
o”3.53,246, 1
X 4.5,2,3,4,6,1

Question ID : 26433056261
Status : Answered
Chosen Option : 3

Q.35 Three of the following four letter-clusters are alike in a certain way and one is different.
Pick the odd one out.

Ans X 1.FUGT
X 2. PKQJ
& 3. MONM
< 4. JQKP

Question ID : 26433057238
Status : Answered
Chosen Option : 3




Q.36 Which of the following numbers will replace the question mark (?) in the given series?

Ans

4,11, 21, 37, 62, 109, 171, ?

% 1.255
X 2. 211

X 3.215
o 4. 251

Question ID : 26433059928
Status : Answered
Chosen Option : 4

Q.37 Select the set in which the number are related in the same way as the numbers of the
given sets. (NOTE : Operations should be performed on the whole numbers, without
breaking down the numbers into its constituent digits. E.g. 13 — Operations on 13 such
as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into

Ans

1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(8, 8, 128)
(11,7, 162)

o 1.(7,9,128)

X 2.(9,8,108)
< 3.(6,8,124)
X 4.(7,8,125)

Question ID : 26433069110
Status : Answered
Chosen Option : 1

Q.38 Select the figure from the options that can replace the question mark (7) and complete the pattem.

Ans

x 1.

Question ID : 26433068217
Status : Answered
Chosen Option : 2




Q.39 In this question, the statement is followed by two conclusions. Which of the two
conclusions is/are true?

Statement: P>D<R>A=XsP=T

Conclusions: . A=T
I.R>X

Ans X 1. Neither conclusion | nor Il is true
4" 2. Only conclusion Il is true
#< 3. Only conclusion | is true

& 4. Both conclusions | and Il are true

Question ID : 26433057318
Status : Answered
Chosen Option : 4

Q.40 Select the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related
to the third letter-cluster.

FLUTES : ULFSET :: STRING : RTSGNI :: VIOLIN : ?

Ans X 1. OIVINL
X 2. OILNIV
7< 3. OINLIV
o 4. OIVNIL

Question ID : 26433056185
Status : Answered
Chosen Option : 4

Q.41 Which letter cluster will replace the question mark (?) to complete the given series?
RJXU, UYPD, ?, ACZV, DRRE

Ans X 1.VHGM
o 2. XNHM
X 3.YBSK
X 4.2IWP

Question ID : 26433079434
Status : Answered
Chosen Option : 2

Q.42 In a certain code language, 'UNTIL’ is coded as '201319811"' and 'WHERE' is coded as
'2274174'. How will 'LIMIT' be coded in that language?

Ans o7 1.11812819
X 2.11813819
X 3.11818219
< 4.11812820

Question ID : 26433067309
Status : Answered
Chosen Option : 1




Q.43 A, B, C, D, E, F and G are seven friends having different heights. A is taller than C but
shorter than B. C is taller than F but shorter than A. B is taller than A but shorter than
2 persons. D is taller than B. E is not the tallest and G is the shortest. Who is the
tallest?

Ans X 1.B
X 2cC
& 3.D
X 4.A

Question ID : 26433093129
Status : Answered
Chosen Option : 3

Q.44 select the option that will replace the question mark (7) in the figure given below to complete the pattem.

Ans

x 3.

Question ID : 26433085406
Status : Answered
Chosen Option : 4

Q.45 Select the correct option that indicates the arrangement of the following words in a
logical and meaningful order.
1. Agra
2. Uttar Pradesh
3. Asia
4. India
5. Taj Mahal

Ans X 1.4,3,51,2
X 254,321
3.3,4215
X 4.1,2,3,4,5

Question ID : 26433079389
Status : Answered
Chosen Option : 3




Q.46 Which two numbers from amongst the given options should be interchanged to make
the given equation correct?
(36+2)x5-15%x4=20-260+(5x3+2)

Ans X 1.4and?2
X 2.3and5
2 3.20and 36
o 4.2and3

Question ID : 26433067693
Status : Answered
Chosen Option : 4

Q.47 Select the option that will replace the question mark (?) in the following number series.
11, 15,12, 16,13, ?
Ans X 1.31
o 2.17
X 3.21
X 4.19

Question ID : 26433068246
Status : Answered
Chosen Option : 2

Q.48 Two statements are given followed by two conclusions numbered | and Il. Assuming
the statements to be true, even if they seem to be at variance with commonly known
facts, decide which of the conclusions logically follow(s) from the statements.
Statements:

Some vehicles are helicopters.
All helicopters are cars.
Conclusions:

I. All vehicles are cars.

Il. Some vehicles are cars.

Ans X 1. Neither conclusion | nor Il follows
25 2. Only conclusion Il follows
5 3. Only conclusion | follows

4" 4. Either conclusion | or Il follows

Question ID : 26433058036
Status : Answered
Chosen Option : 2

Q.49 Eight people are sitting in two parallel rows with four people each in such a way that
there is equal distance between adjacent persons. B, C, D and E sit in the same row
facing South. H, I, J and K sit in the same row facing North. C sits at the extreme left
end of their row and is exactly opposite I. H sits to the immediate left of |. K sits at the
extreme left end of their row and is exactly opposite D. B sits between D and E.

Who sits exactly opposite H?

Ans # 1.E
X 2B
KX 3.D
X 4.C

Question ID : 26433068751
Status : Answered
Chosen Option : 1




Q.50 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
number.
8:49::16:?7::12:121

Ans X 1.215

X 2.220
0 3.250

o 4.225

Question ID : 26433067895
Status : Answered
Chosen Option : 4

Section : General Awareness

Q.1 Who among the following won the Arjuna Award 2021 in Para Archery?
Ans X 1. Sharad Kumar

#5 2. Bhavina Patel
& 3. Harvinder Singh
2 4. Nishad Kumar

Question ID : 26433069815
Status : Answered
Chosen Option : 3

Q.2 The Citadel and Great Bath can be traced to which site of the Indus Valley Civilisation?
Ans X 1.Harappa

4" 2. Mohenjo-Daro
25 3. Rakhigarhi

& 4. Lothal
Question ID : 26433066556
Status : Answered
Chosen Option : 2
Q3 is the largest slum in Asia.

Ans X 1. Kathputli
/% 2. Banganga
& 3. Dharavi
5 4. Baiganwadi

Question ID : 26433092857
Status : Answered
Chosen Option : 3

Q.4 Field hockey used to be restarted by ‘Roll-in’.When was Roll-in replaced by ‘Push-in’?
Ans X 1.1960

X 2.1965
o 3.1970
X 4.1975

Question ID : 26433059375
Status : Answered
Chosen Option : 2




Q.5 The Narcotic Drugs and Psychotropic Substances (Amendment) Bill, 2021 was
introduced in Lok Sabha on December 6, 2021 which seeks to punish financing illicit
activities or harbouring persons engaged in them with rigorous imprisonment of at
least ten years (extendable up to 20 years) and a fine of at least

Ans X 1.%1,50,000
< 2.%2,00,000
#5 3.%50,000

" 4.%1,00,000

Question ID : 26433086880
Status : Answered
Chosen Option : 2

Q.6 Under the Antyodaya Anna Yojana, up to what quantity of rice and wheat can be
purchased at a subsidised cost?

Ans  # 1.35kg
75 2.40 kg
75 3.30kg
< 4.25kg

Question ID : 26433092889
Status : Answered
Chosen Option : 4

Q.7 On which date was the Industrial policy of 1991 launched?
Ans o 1.24 July

5 2. 30 December

25 3.20 October

2 4.15 August

Question ID : 26433059281
Status : Answered
Chosen Option : 1

Q.8 Historians believe that many of the Kushana rulers who started calling themselves
‘Devaputras’ or ‘Sons of God’ were possibly inspired by the emperors of
culture.

Ans " 1. Chinese
& 2. Greek
25 3. Roman
#< 4. Sri Lankan

Question ID : 26433066647
Status : Answered
Chosen Option : 2

Q.9 Which of the following holy sites of Buddhism became a UNESCO World Heritage Site
in 20027
Ans X 1. Mahaparinirvana Temple at Kapilvastu

25 2. Buddhist Monuments at Sanchi
< 3. Dhamekh Stupa at Sarnath
" 4. Mahabodhi Temple Complex at Bodh Gaya

Question ID : 26433072649
Status : Answered
Chosen Option : 4




Q.10 Match the following mountain peaks with their respective extents in the given table.

Mountain peak Extent

A, Saddle Peak 1. Great Nicobar

B. Mount Diavolo 2. South Andaman
C. Mount Kovyob 3. Middle Andaman
D. Mount Thullier 4. North Andaman

Ans X 1.A-2B-3C-4D-1
X 2.A-1B-2C-3D-4
X 3.A-3B-4C-1D-2
" 4. A-4B-3C-2 D1

Question ID : 26433059219
Status : Answered
Chosen Option : 4

Q.11 Which period marks the ‘first phase’ of the Green Revolution?
Ans X 1. Mid 1980s — Mid 1990s

" 2. Mid 1960s — Mis 1970s
#< 3. Mid 1970s — Mid 1980s
< 4. Mid 1950s — Mid 1960s

Question ID : 26433054812
Status : Answered
Chosen Option : 4

Q.12 In which year did Lala Hardayal form the Gadar Party?
Ans X 1.1885

X 2.1897
% 3.1905
o 4.1913

Question ID : 26433082256
Status : Answered
Chosen Option : 4

Q.13 Kishori Amonkar, one of the great vocalists of Hindustani music, is associated with
which of the following gharanas?

Ans X 1.Agra
" 2. Jaipur
& 3. Maihar
4. Gwalior

Question ID : 26433055393
Status : Answered
Chosen Option : 4




Q.14 Which of the following is the longest beach in the world?
Ans 4 1. Praia do Cassino Beach, Brazil

2. Playa Novillero Beach, Mexico
25 3. Padre Island, Texas
#< 4. Cox’s Bazar, Bangladesh

Question ID : 26433064208
Status : Answered
Chosen Option : 2

Q.15 In which month the festival of Lohri is celebrated ?
Ans X 1.February

X2, April
" 3. January
25 4. November

Question ID : 26433064396
Status : Answered
Chosen Option : 3

Q.16 Which of the following is an example of joint sector industry in India?
Ans X 1.BHEL

X 2. SAIL

& 3. Oil India Ltd.

X 4.TISCO

Question ID : 26433082183
Status : Answered
Chosen Option : 4

Q.17 Who is regarded as the father of Qawwali in India?
Ans X 1. Mirza Ghalib

25 2. Nizamuddin Auliya
X 3. Wazid Ali
4" 4. Amir Khosrow

Question ID : 26433064236
Status : Answered
Chosen Option : 2

Q.18 Rickets is caused due to the deficiency of
Ans o 1. vitamin D

25 2. vitamin C
#< 3. vitamin B
& 4. vitamin A

Question ID : 26433066485
Status : Answered
Chosen Option : 1




Q.19 Bidesiya is said to have originated from the village of Kutubpur, Uttar Pradesh. People
who used to leave the village and go to the city were known as Bidesiyas. One such

person was
Ans 4 1. Bhikhari Thakur

25 2. Acharya Devvrat
X 3. Bheem Sen
& 4. Viren Bahadur

Question ID : 26433090721
Status : Answered
Chosen Option : 1

Q20 wfatch column A with column B.

Column A (Vitamin) | Column B
{deficiency)

1. Vitamin A a. Beriberi

il. Vitamin B b. Night blindness

iii. Vitamin C c. Osteoporosis

iv. Vitamin D d. Scurvy

Ans & 1.i-b, ii-a, iii-d, iv-c
X 2.id, ii-c, iii-b, iv-a
X 3.i-b, ii-c, iii-a, iv-d
X 4.i-c, ii-b, iii-d, iv-a

Question ID : 26433064150
Status : Answered
Chosen Option : 1

Q.21 The autobiography of famous yoga guru Swami Ramdev is:
Ans  # 1. My Life, My Mission

25 2. Beyond the Lines
25 3. Born Again on the Mountain
& 4. In the Afternoon of Time

Question ID : 26433054374
Status : Answered
Chosen Option : 2

Q.22 Which of the following is NOT a feature of money?

Ans X 1. Convenient unit of account
" 2. Perishable
X 3. General acceptability
< 4. Liquid asset

Question ID : 26433065422
Status : Answered
Chosen Option : 2




Q.23 Indo-Greek kings ruled which of the following part of ancient India?
Ans X 1.Magadha

" 2. Northwest
& 3. Kashmir
< 4. Eastern

Question ID : 26433071388
Status : Answered
Chosen Option : 2

Q.24 Magnesium is present in which of the following?
Ans o 1. Chlorophyll

#5 2. Haemoglobin
< 3. Cytochrome
X 4. ATP

Question ID : 26433064426
Status : Answered
Chosen Option : 2

Q.25 Goitre is caused due to the deficiency of g
Ans o 1. iodine

25 2. sodium

25 3. iron
& 4. calcium

Question ID : 26433066486
Status : Answered
Chosen Option : 1

Q.26 Who among the following appointed Ibn Battuta as the Qazi of Delhi?
Ans X 1. Alauddin Khilji

5 2. Sikandar Lodi
2% 3. Ghiyasud din Balban
& 4. Muhammad Bin Tughlaq

Question ID : 26433089132
Status : Answered
Chosen Option : 4

Q.27 Which of the following family of flowering plants is zygomorphic (meaning a flower
can be cut into two equal halves only through a radius), bisexual and complete and
whose calyx consists of five sepals?

Ans X 1. Solanaceae family
" 2. Fabaceae family
X 3. Liliaceae family
X 4. Poaceae family

Question ID : 26433064271
Status : Not Answered
Chosen Option : --




Q.28 Which of the following is NOT a fundamental duty?

Ans X 1. To strive for excellence
4" 2. To enact a uniform civil code
5 3. Spirit of common brotherhood

25 4. To protect sovereignty and integrity of India

Question ID : 26433071526
Status : Answered
Chosen Option : 2
Q.29 As per a news report in February 2022, which city will be home to the country's first e-
waste eco-park, which will take care of rising e-waste?
Ans X 1. Mumbai
«” 2. Delhi
25 3. Bengaluru
X 4. Pune
Question ID : 26433081811
Status : Answered
Chosen Option : 2
Q.30 Which of the following is NOT the correct match?
Ans X 1.Lysosomes- Christian de Duve
«# 2. Chloroplast- Altman
25 3. Mitochondria- Albert von Kolliker
X 4. Ribosome- George E Palade
Question ID : 26433064117
Status : Answered
Chosen Option : 2
Q.31 With which of the following festivals is Prabhat Pheri associated?
Ans X 1. Diwali
& 2. Gurpurab
25 3. Holi
#5 4. Gandhi Jayanti
Question ID : 26433064679
Status : Answered
Chosen Option : 3
Q.32 Which of the following elements does NOT belong to group 1 of the modern periodic
table?
Ans X 1.Sodium
& 2. Radium
75 3. Potassium
X 4. Lithium
Question ID : 26433066667
Status : Answered
Chosen Option : 2




Q.33 When was the Khajuraho Dance Festival started by the Government of India in
collaboration with Madhya Pradesh Kala Parishad?

Ans X 1.1997
X 2.1990
o 3. 1975
75 4.1981

Question ID : 26433074081
Status : Not Answered
Chosen Option : --

Q.34 Which of the following Major Rock Edicts of Ashoka states that Dhammayatras (tours)
would be undertaken by the emperor?

Ans X 1. Major Rock Edicts IV
" 2. Major Rock Edict VIII
25 3. Major Rock Edict IX
2 4. Major Rock Edict V

Question ID : 26433054282
Status : Answered
Chosen Option : 3

Q.35 Which of the following rivers was once known as the “Sorrow of Bengal”?
Ans X 1. Hooghly

2. Brahmaputra
X 3. Kosi
& 4. Damodar

Question ID : 26433089233
Status : Answered
Chosen Option : 3

Q.36 The FIH Men’s Hockey World Cup 2023 will be organised in which of the following
pairs of cities of Odisha?

Ans X 1. Rourkela - Cuttack
X 2. Bhubaneswar — Puri
4" 3. Bhubaneswar — Rourkela
& 4. Puri — Cuttack

Question ID : 26433059395
Status : Answered
Chosen Option : 3

Q.37 Ali Akbar Khan, a globally renowned musician, is famous for playing which of the
following instruments in the west at the invitation of violinist Yehudi Menuhin?

Ans X 1. Santoor
X 2. Surbahar
" 3. Sarod
X 4. Sitar

Question ID : 26433055398
Status : Answered
Chosen Option : 3




Q.38 Which of the following states registered the highest growth in literacy rate during
2001-20117

Ans X 1. Arunachal Pradesh
" 2. Bihar

25 3. Sikkim

X 4. Punjab

Question ID : 26433092882
Status : Answered
Chosen Option : 2

Q.39 Which port is situated at the entrance of the Zuari estuary?
Ans o 1. Mormugao

X 2. New Mangalore

25 3. Haldia

25 4. Jawaharlal Nehru

Question ID : 26433081906
Status : Answered
Chosen Option : 4

Q.40 What is a peculiar character of allochromatic minerals?
Ans o 1. These minerals are coloured due to impurities .

X 2. These minerals are naturally-coloured minerals without any impurities.
/5 3. These minerals are naturally-colourless minerals.

X 4. These minerals are colourless and very explosive.

Question ID : 26433064197
Status : Answered
Chosen Option : 2

Q.41 There is a mention of the term ‘Ayas’ in Rigveda referring to:
Ans X 1. cotton

& 2. metal
& 3. horse

X 4. rice

Question ID : 26433064595
Status : Not Answered
Chosen Option : --

Q.42 Who among the following received the National Film Award in the Best Choreography
category for the film ‘Bajirao Mastani’?

Ans & 1. Remo D’'Souza
/2. Ganesh Aacharya
25 3. Jyoti D Tomar
75 4. Sudesh Adhana

Question ID : 26433074138
Status : Answered
Chosen Option : 4




Q.43 The 10th Schedule of the Constitution of India, popularly referred to as the 'Anti-

Defection Law', was inserted by the Amendment.

Ans  x 1 5gh

X 2. 631

X 3. 48h

o 4. 527

Question ID : 26433054544
Status : Answered
Chosen Option : 2

Q.44 , Secretary (L&E), completed his tenure as the Chair of the Governing Body of

International Labour Organisation, after holding the position for the period October
2020- June 2021.

Ans X 1. Amitabh Kant
25 2. Atul Dinkar Rane
& 3. Apurva Chandra
& 4. Leena Nair

Question ID : 26433081861
Status : Answered
Chosen Option : 2

Q.45 Which of the following festivals is celebrated in the Hindu month of Phalgun?
Ans o 1. Holi

< 2. Dussehra
25 3. Maha Shivaratri
X 4. Diwali

Question ID : 26433064677
Status : Answered
Chosen Option : 2

Q.46 Who among the following founded the Home Rule League in Madras?
Ans X 1. Thomas Periyar

/5 2. Bal Gangadhar Tilak
4" 3. Annie Besant
25 4. Aurobindo Ghose

Question ID : 26433091469
Status : Answered
Chosen Option : 3

Q.47 The first Asian Games were held at
Ans 4 1. New Delhi

2. Islamabad
25 3. Dhaka
5 4. Colombo

Question ID : 26433054691
Status : Answered
Chosen Option : 1




Q.48 The famous Hindi novel ‘Suni Ghati Ka Suraj’ is written by:
Ans X 1.Kedarnath Singh

25 2. Vishnu Prabhakar
X 3. Madhavi Verma
& 4. Shrilal Shukla

Question ID : 26433054278
Status : Not Answered
Chosen Option : --

Q.49 Which Indian physicist introduced a new statistical method in 1924 to derive the
blackbody radiation law with respect to a gas of light quanta (photons)?

Ans X 1.Meghnad Saha
#< 2. CV Raman
< 3. Homi J Bhabha
4" 4. Satyendra nath Bose

Question ID : 26433064053
Status : Answered
Chosen Option : 4

Q.50 Which of the following is NOT the correct statement about escape velocity?
Ans X 1. In our solar system, Jupiter has the highest escape velocity.

25 2. On the earth, escape velocity is 11.2 km/s.
X 3. Escape velocity depends on the mass and radius of the celestial body.

" 4. In our solar system, Venus has the lowest escape velocity.

Question ID : 26433082200
Status : Answered
Chosen Option : 4

Section : English Language and Comprehension

Q.1 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

His worse mistake / was that he had left home / without informing any of us.

Ans X 1. without informing any of us
& 2. His worse mistake
25 3. No error
X 4. was that he had left home

Question ID : 26433060129
Status : Answered
Chosen Option : 1




Q.2 Select the most appropriate option to fill in the blanks.

Zebras are categorised as stocky wild horses. These mostly on grass.
Zebras are mostly found in the open plains or in lightly wooded areas in east and
south of African continent. The zebra’s stripes are broken up with an outline
making it very difficult to spot them against a background of tall grass.

Ans X 1.food; boundary
o 2. feed; effective
X 3. serve; imaginary

X 4. eat; affective

Question ID : 26433070752
Status : Answered
Chosen Option : 2

Q.3 Select the option that expresses the given sentence in passive voice.

You must have submitted the important documents.
Ans 4 1. The important documents must have been submitted by you.

25 2. The important documents might be submitted by you.
25 3. The important documents must be submitted by you.

X 4. The important documents may have been submitted by you.

Question ID : 26433088474
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate meaning of the idiom used in the given sentence.
She's got a charley horse in her leg.
Ans X 1.Inertness
" 2. Cramp
25 3. Being very mobile

X 4. Assist someone

Question ID : 26433093837
Status : Answered
Chosen Option : 3

Q.5 Select the option that expresses the given sentence in passive voice.

| have to stay in Netherlands for a year till | finish my course.
Ans X 1.1 may be allowed to stay in Netherlands for a year till | finish my course.
/5 2. Itis suggested that | stay in Netherlands for a year till | finish my course.

4" 3.1 am obliged to stay in Netherlands for a year till | finish my course.

X 4. Let me stay in Netherlands for a year till | finish my course.

Question ID : 26433065160
Status : Answered
Chosen Option : 2




Q.6 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Janet has / a pet dog / who are / very smart.
Ans X 1.Janet has

4" 2. who are

< 3. apetdog
& 4. very smart

Question ID : 26433061490
Status : Answered
Chosen Option : 2

Q.7 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Niyati will reached / the conference / venue / by now.
Ans X 1.venue

& 2. Niyati will reached

25 3. by now

X 4. the conference

Question ID : 26433088878
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate ANTONYM of the given word.

Terse
Ans X 1. Authoritative

" 2. Polite
7< 3. Timid
X 4. Excited

Question ID : 26433072422
Status : Answered
Chosen Option : 1

Q.9 Select the option that expresses the given sentence in indirect speech.

| said to Sharma, “Please give me your book”.
Ans X 1.1request Sharma please give me your book.

" 2.1 requested Sharma to give me his book.
/& 3.1 requested Sharma to give your book.
25 4.1 requested Sharma book.

Question ID : 26433063619
Status : Answered
Chosen Option : 2




Q.10 Select the option that expresses the given sentence in indirect speech.

Reena said to Rhea, “l will not accompany you on this trip.”
Ans X 1.Reena said to Rhea that she will not accompany her on the trip.

25 2. Reena said to Rhea that she will not accompany her on this trip.
4" 3. Reena told Rhea that she would not accompany her on that trip.

4. Reena said to Rhea that she will not be accompanying her on this trip.

Question ID : 26433055875
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate ANTONYM to replace the italicised word.
His woeful eyes betrayed his feeling.

Ans X 1. bewailing
X 2. plangent
& 3. cheerful
25 4. agonised

Question ID : 26433059655
Status : Answered
Chosen Option : 3

Q.12 Select the most appropriate synonym of the underlined word in the following
sentence.
I still cherish those little pranks and naughty tricks that we did during our school days.

Ans X 1.sinful
25 2. tractable
& 3. impish
X 4. nasty

Question ID : 26433066417
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

The Philippines is the second largest archipelago with over 7,000 islands.
Ans X 1.second large archipelago
5 2. second largest archipelago
& 3. No substitution

& 4. second largely archipelago

Question ID : 26433073256
Status : Answered
Chosen Option : 3




Q.14 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

One of his books were / shortlisted for the Booker Prize / in the year 1992.

Ans X 1. shortlisted for the Booker Prize
2. in the year 1992
4" 3. One of his books were
& 4. No error

Question ID : 26433060153
Status : Answered
Chosen Option : 3

Q.15 Select the grammatically correct sentence.

A.Vegetables are an important source of energy. A balanced diet must include

vegetables.
B.Vegetables are a important source of energy. A balanced diet must include
vegetables.
C.Vegetables are an important source of energy. Balanced diet must include
vegetables.

D.Vegetables are a important source of energy. Balanced diet must include vegetables.
Ans X 1.C

X 2B
/53D
& 4 A

Question ID : 26433073534
Status : Answered
Chosen Option : 4

Q.16 Select the option that expresses the given sentence in passive voice.

Somebody sent me a gift on my anniversary.
Ans X 1.1 was surprised to have been sent a gift on my anniversary.
25 2. Someone sent a gift on my anniversary.
" 3. | was sent a gift on my anniversary by someone.

& 4. 1 would be sent a gift on my anniversary by someone.

Question ID : 26433073159
Status : Answered
Chosen Option : 3

Q.17 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

After retirement, Jiten Babu took up a position that is unsalaried.
Ans X 1.non-tenure

& 2. honorary
2 3. substantive
X 4. tenure

Question ID : 26433070633
Status : Answered
Chosen Option : 2




Q.18 Select the option that expresses the given sentence in passive voice.

The administrator will give you a cheque.
Ans X 1. A cheque shall be given to you by the administrator.

2 2. A cheque was given to you by the administrator.
" 3. A cheque will be given to you by the administrator.

< 4. A cheque would be given to you by the administrator.

Question ID : 26433084826
Status : Answered
Chosen Option : 3

Q.19 In the following passage, some words have been deleted. Read the passage carefully
and select the most appropriate option to fill in the blanks.
A French woman Jeanne Louise Calment lived for 122 years and 164 days. This made
her the world’s oldest human being at the time of her (1) in 1997 (according to
the Guinness World Records). She gave the credit of her (2) to routine snacking
on chocolate.

Ans X 1. passing; stability
X 2. expiry; durability
X 3. decease; continuity

" 4. demise; longevity

Question ID : 26433084745
Status : Answered
Chosen Option : 4

Q.20 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

By the time / we will reach the station, / the train will have already left.

Ans X 1.By the time
5 2. the train will have already left
4" 3. we will reach the station

2 4. No error

Question ID : 26433086360
Status : Answered
Chosen Option : 3

Q.21 Select the option that expresses the given sentence in reported speech.
She asked Aditi, “Where did you have lunch yesterday?”

Ans X 1. She asked Aditi whether she was having lunch yesterday.
25 2. She asked Aditi where she was having lunch the previous day.
X 3. She asked Aditi if she had lunch yesterday.
" 4. She asked Aditi where she had lunch the previous day.

Question ID : 26433059121
Status : Answered
Chosen Option : 4




Q.22 Read the given passage and select the most appropriate set of words for the blanks.

Humans blink their eyes to flush away the stream of cleansing tears

produced by the ducts present in the corners of our eyes. Adults their eyes

about 15 times per minute.
Ans " 1. automatically; blink

X 2. deliberately; flutter
25 3. impulsively; wink
& 4. mechanically; flicker

Question ID : 26433088642
Status : Answered
Chosen Option : 1

Q.23 Select the option that expresses the given sentence in passive/active voice.

Leave the premises at once.
Ans X 1. You are told to leave the premises at once.

< 2. Someone is to leave the premises at once.
75 3. People left the premises at once.

" 4. Let the premises to be left at once.

Question ID : 26433070654
Status : Answered
Chosen Option : 1

Q.24 Select the option that expresses the given sentence in reported speech.
He said, “I| must stay with her as her condition is critical.”

Ans X 1. He said he would stay with her as her condition is critical.
< 2. He said that he has to stay with her as her condition has been critical.
4" 3. He said that he would have to stay with her as her condition was critical.

25 4. He said he must stay with her as her condition were critical.

Question ID : 26433059122
Status : Answered
Chosen Option : 3

Q.25 Select the option that expresses the given sentence in indirect speech.
The manager said to her, “Will you accept the revised salary?”

Ans X 1. The manager asked her whether she accepted the revised salary.
" 2. The manager asked her whether she would accept the revised salary.
2% 3. The manager asked her whether she has accepted the revised salary.

X 4. The manager asked her whether she will accept the revised salary.

Question ID : 26433063537
Status : Answered
Chosen Option : 2




Q.26

Ans

Select the option that expresses the given sentence in passive voice.
Who teaches you English?

25 1. Who has been taught you English?
2 2. By whom were you taught English?
" 3. By whom are you taught English?

5 4. By whom was English taught to you?

Question ID : 26433063532
Status : Answered
Chosen Option : 3

Q.27

Ans

Select the option that expresses the given sentence in indirect speech.

The Principal said, “What a good performance, Sonu! You have won the competition.”

25 1. The Principal surprised Sonu with news of his good performance and winning the
competition.

& 2. The Principal applauded that Sonu had performed well and declared that he had won
the competition.

< 3. The Principal cried out to Sonu that he had good performance and he had won the
competition.

2 4. The Principal told Sonu about his good performance and that he has won the
competition.

Question ID : 26433065170
Status : Answered
Chosen Option : 2

Q.28

Ans

Select the option that expresses the given sentence in indirect speech.

Girish said, “We have not gone to Mexico”.
2< 1. Girish said that they had not went to Mexico.
2% 2. Girish said that they has not gone to Mexico.
25 3. Girish said that we had not gone to Mexico.
& 4. Girish said that they had not gone to Mexico.

Question ID : 26433073248
Status : Answered
Chosen Option : 4

Q.29

Ans

The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

She seems to be / exhausted after talking for / a couple of hours to the public.
#< 1. exhausted after talking for
/< 2. a couple of hours to the public
" 3. No error
75 4. She seems to be

Question ID : 26433074502
Status : Answered
Chosen Option : 2




Q.30 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Eva’s business module / allowed people’s money / to grow steadily.
Ans X 1.Eva's business module
" 2. No error
25 3. to grow steadily

X 4. allowed people’s money

Question ID : 26433072373
Status : Answered
Chosen Option : 4

Q.31 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Besides the banyan tree / is the path / that leads to the forest.
Ans X 1. No error
& 2. Besides the banyan tree
25 3. that leads to the forest
X 4.is the path

Question ID : 26433061473
Status : Answered
Chosen Option : 2

Q.32 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

A law cannot be enforced until the President gives his assent to it.
Ans X 1. No substitution required
4" 2. unless the President
5 3. however the President

4. otherwise the President

Question ID : 26433073373
Status : Answered
Chosen Option : 1

Q.33 Select the most appropriate synonym of the given word.
Delegate

Ans o 1. Representative
2. Serviceman
5 3. Elect
25 4. Exemplar

Question ID : 26433063120
Status : Answered
Chosen Option : 1




Q.34 Select the most appropriate option to fill in the blank.

Simon the contact details of renowned pediatricians in the telephone
directory.

Ans X 1. looked into
" 2. looked up
25 3. looked after

25 4. wenton

Question ID : 26433071740
Status : Answered
Chosen Option : 2

Q.35 Select the option that expresses the given sentence in passive voice.
The employer paid him the salary.

Ans X 1.He was paid by the employer salary.
25 2. He was being paid the salary by the employer.
4 3. The salary was paid to him by the employer.
X 4. He had been paid the salary by the employer.

Question ID : 26433063531
Status : Answered
Chosen Option : 3

Q.36 Choose the correct meaning of the given idiom.
Go through fire and water

Ans X 1. To pass through life
" 2. To pass through all types of hardships
2 3. To pass through all types of luxury
25 4. To fail in all types of hardships

Question ID : 26433060917
Status : Answered
Chosen Option : 2

Q.37 Select the word that is OPPOSITE in meaning to the underlined word in the given
sentence.

On several occasions he defended the cause of moderation and justice against the
fanatical crusaders.

Ans o 1. Liberal
#< 2. Generous
< 3. Profound
25 4. Intolerant

Question ID : 26433060596
Status : Marked For Review
Chosen Option : 2




Q.38 Sentences of a paragraph are given below. While the first and the last sentences (S1
and S6) are in the correct order, the sentences in between are jumbled up. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.

S1. Time has made the face

A.and it remains so

B. that is being put on it

C.in spite of the lipstick

D.of my country stark, chastened and sad
S6. by the hand of the spiritual half-castes.

Ans X 1.CBDA
< 2. CADB
« 3. DACB
X 4.CDAB

Question ID : 26433092126
Status : Answered
Chosen Option : 1

Q.39 Select the most appropriate ANTONYM of the underlined word.
Experts have shown that those who suffer from social anxieties and find it challenging
to find a common language with others can overcome these obstacles by watching
movies.

Ans o 1. Placidity
< 2. Desperation
3. Solace
25 4. Unconcern

Question ID : 26433059841
Status : Answered
Chosen Option : 1

Q.40 Select the most appropriate ANTONYM of the given word.
Fame

Ans 1. Disgrace
X 2. Laurels

25 3. Glory
2 4. Distinction

Question ID : 26433060446
Status : Answered
Chosen Option : 1

Q.41 Select the option that expresses the given sentence in indirect speech.

Hari said to the boy, "What's the matter? Why are you crying? Be cheerful.”
Ans 4 1. Hari asked the boy what the matter was and why he was crying. He asked him to be

cheerful.

& 2. Hari asks the boy what the matter was and why he was crying. He asks him to be
cheerful.

& 3. Hari asked the boy what the matter was and why he was crying. He asks him to be
cheerful.

& 4. Hari asked the boy what was the matter and he was crying. He asked him to be
cheerful.

Question ID : 26433084829
Status : Answered
Chosen Option : 1




Q.42 Select the most appropriate synonym for the underlined word in the given sentence.

The hunter felt no compunction after killing the tiger.
Ans X 1. compulsion
& 2. Pressure
X 3. pleasure

& 4. remorse

Question ID : 26433072078
Status : Answered
Chosen Option : 4

Q.43 Select the most appropriate meaning of the given idiom.

Break fresh/new ground
Ans X 1.To build a new house

4" 2. To do something that was not done before
25 3. To talk to stranger
5 4. To dig a well

Question ID : 26433060006
Status : Answered
Chosen Option : 2

Q.44 Select the most appropriate meaning of the given idiom.
Chicken hearted

Ans X 1. Someone who cannot be won over
25 2. Someone who is hypocritical
#5 3. Someone who is brave and courageous

& 4. Someone who lacks courage and is easily frightened

Question ID : 26433063131
Status : Answered
Chosen Option : 4

Q.45 Sentences of a paragraph are given below. While the first and the last sentences (1
and 2) are in the correct order, the sentences in between are jumbled up. Arrange the
sentences in the correct order to form a meaningful and coherent paragraph.

1. Stonehenge is a historic site in southern England.

A. It is a religious shrine.

B. At first there was only a circular mound.

C. This was dug in 1900 BC.

D. The familiar circle of giant stones was added 400 years later.
2. These stones weighed about 26 tons each.

Ans X 1.CDBA
< 2. BCDA
& 3. ABCD
< 4.DBAC

Question ID : 26433088316
Status : Answered
Chosen Option : 3




Q.46 Select the most appropriate synonym of the given word.
Observe

Ans X 1.Ignore

«” 2. Watch

#< 3. Deserve

X 4. Clarify

Question ID : 26433060624
Status : Answered
Chosen Option : 2

Q.47 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
Sara will go to the seminar first and later attend class.

Ans X 1. latter
+" 2. No substitution required

X 3. late
X 4. letter

Question ID : 26433070775
Status : Answered
Chosen Option : 2

Q.48 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Once the responses were received, / the data collected / was tabulated for analysis.

Ans X 1. Once the responses were received
& 2. No error
3. the data collected

25 4. was tabulated for analysis

Question ID : 26433059553
Status : Answered
Chosen Option : 3

Q.49 Select the most appropriate synonym of the given word.

Miscellaneous
Ans o 1. Various
25 2. Contemporary
& 3. Virtuous
25 4. Interesting

Question ID : 26433088491
Status : Answered
Chosen Option : 1




Q.50 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A)Due to this, social approaches too have changed a lot.

B)Social reformers have brought in significant changes in society.
C)But a complete transformation is yet awaited ever after centuries.
D)We are now witnessing transformations on a larger scale.

Ans X 1.BACD
X 2.CDAB
& 3. BADC
X 4.CDBA

Question ID : 26433073184
Status : Answered
Chosen Option : 3

Q.51 Select the option that expresses the given sentence in future tense form.

A signboard was hanging there for the travellers indicating the directions.
Ans X 1. A signboard had hung there for the travellers indicating the directions.
" 2. A signboard will be hanging there for the travellers indicating the directions.
& 3. A signboard has been hanging there for the travellers indicating the directions.

25 4. A signboard is found hanging there for the travellers indicating the directions.

Question ID : 26433089294
Status : Answered
Chosen Option : 2

Q.52 Select the option that expresses the given sentence in indirect speech.

The teacher said to me, “You have not followed my instructions properly.”
Ans X 1. The teacher told me that | was not following her instructions properly.
4 2. The teacher told me that | had not followed her instructions properly.
X 3. The teacher told me that | had not been following her instructions properly.

/5 4. The teacher told me that | have not followed her instructions properly.

Question ID : 26433091865
Status : Answered
Chosen Option : 2

Q.53 Select the option that expresses the given sentence in indirect speech.

| said to Hia, “Don’t litter”.
Ans X 1.l advised Hia to not litter.

4" 2. | implored Hia to not to litter.
25 3.1 ordered Hia to not litter.

4. offered Hia to not litter.

Question ID : 26433084847
Status : Answered
Chosen Option : 1




Q.54 Select the most appropriate synonym of the underlined word.

Sudha Murthy dealt with complex psychological issues in her stories in a lucid
manner.

Ans X 1. Poignant

4" 2. Comprehensible
25 3. Implicit
& 4. Exquisite

Question ID : 26433070516
Status : Answered
Chosen Option : 2

Q.55 Select the option that expresses the given sentence in passive voice.
Someone has drunk all the wine in the glass.

Ans X 1. All the wine in the glass had being drunk.
4" 2. All the wine in the glass has been drunk by someone.
2 3. All the wine in the glass had been drunk.
25 4. All the wine in the glass has drunk.

Question ID : 26433059832
Status : Answered
Chosen Option : 2

Q.56 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Mihir teased and joking with Aastha until she started laughing.
Ans X 1.was teasing and joking

/5 2. has joked and teased
4 3. teased and joked
& 4. will tease and joke

Question ID : 26433060950
Status : Answered
Chosen Option : 3

Q.57 Select the most appropriate synonym of the given word.
Gullible

Ans o 1. Naive
#< 2. Candid

& 3. Nosy
< 4. Dreary

Question ID : 26433066114
Status : Answered
Chosen Option : 1




Q.58 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

There is too many / pieces of glass / on the ground.
Ans X 1.on the ground
X 2. pieces of glass
25 3. No error
& 4. There is too many

Question ID : 26433060937
Status : Answered
Chosen Option : 4

Q.59 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution’.

Emily’s stoic silence conveyed a grim picture in her growing strife within the family.

Ans X 1. across the growing strife within her family
25 2. No substitution
2 3. without her growing strife within the family

& 4. of the growing strife within her family

Question ID : 26433073948
Status : Answered
Chosen Option : 4

Q.60 The given sentence is divided into three segments. Select the option that has the
segment with a grammatical error. If there is no error, select 'no error' as your answer.

She wont be / watch the news / on the BBC channel.
Ans X 1.on the BBC channel
" 2. watch the news
75 3. She won't be
& 4. No error

Question ID : 26433071855
Status : Answered
Chosen Option : 3

Q.61 Select the option that expresses the given sentence in direct speech.
The leader applauded the comrades saying that they had done very well.

Ans o 1. The leader said to the comrades, “Bravo! You have done very well.”
75 2. The leader said to the comrades, “Cheers! You have been doing very well.”
& 3. The leader said to the comrades, “Great! You could do very well.”

5 4. The leader said to the comrades, “Alas! You have done very well.”

Question ID : 26433063540
Status : Answered
Chosen Option : 1




Q.62 Choose the correct meaning of the underlined idiom in the given sentence.
The young athletes bore the palm in almost all the events.

Ans X 1. Compromised
2. Lost

«" 3. Won

X 4. Fixed

Question ID : 26433059963
Status : Answered
Chosen Option : 3

Q.63 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The poet compared the lovely young woman with a beautiful rose.

Ans o 1.to a beautiful rose
25 2. amid a beautiful rose
#< 3. by a beautiful rose

/4. beside a beautiful rose

Question ID : 26433081323
Status : Answered
Chosen Option : 1

Q.64 Select the most appropriate synonym of the underlined word.
Earlier | use to knit very fast, but due to old age my fingers are not so nimble.
Ans o 1. Agile
25 2. Sluggish
< 3. Mild
2 4. Obscure

Question ID : 26433073279
Status : Answered
Chosen Option : 1

Q.65 Select the option that expresses the given sentence in passive voice.
Mike decided to skip work.

Ans X 1. Work is being skipped by Mike.
5 2. Work was skipped by Mike.
& 3. Work is decided to be skipped by Mike.
4" 4. The work was decided to be skipped by Mike.

Question ID : 26433063499
Status : Answered
Chosen Option : 2




Q.66 Select the option that expresses the given sentence in active voice.
| am being tortured by you.

Ans X 1. You have been torturing me.

& 2.1 am not being tortured by you.

25 3. You are being torturing me.

& 4. You are torturing me.

Question ID : 26433073243
Status : Answered
Chosen Option : 4

Q.67 Select the option that expresses the given sentence in passive voice.
The courier service had delivered the parcel.

Ans X 1. The parcel service was being delivered by the courier service.
25 2. The parcel delivered the courier service.
" 3. The parcel had been delivered by the courier service.

4. The parcel was been delivered by the courier service.

Question ID : 26433070753
Status : Answered
Chosen Option : 3

Q.68 Select the most appropriate synonym for the underlined word in the given sentence.
The clairvoyant witches told Macbeth his future.
Ans 4 1. Prophetic
25 2. malevolent
25 3. hideous
& 4. buoyant

Question ID : 26433072077
Status : Answered
Chosen Option : 1

Q.69 Select the option that expresses the given sentence in active voice.
A farewell party for me has been organised by my office colleagues.
Ans X 1. My office colleagues are going to organise a farewell party for me.
«" 2. My office colleagues have organised a farewell party for me.
25 3. My office colleagues are organising a farewell party for me.

& 4. A farewell party for me is about to be organised by my office colleagues.

Question ID : 26433089120
Status : Answered
Chosen Option : 2




Q.70 The following sentence has been split into four segments. Identify the segment that

Ans

contains a grammatical error.

| ate / the egg / yesterday for / my dinner.
«” 1.the egg
5 2. yesterday for
& 3. late
25 4. my dinner

Question ID : 26433070485

Status : Answered

Chosen Option : 2

Q.71
Ans

Comprehension:

India is a diverse nation with many different cultures. Although there are some eating habits
that are considered staples of Indian cuisine, these habits may not be practiced by all the
cultures of India. Cuisine differs across India’s diverse regions as a result of variation in local
culture, geographical location (proximity to sea, desert, or mountains), and economics. It also
varies seasonally, depending on which fruits and vegetables are ripe. Also, Middle Eastern
and Central Asian influences have occurred on North Indian cuisine from the years of Mughal
rule. Indian cuisine is still evolving, as a result of the nation’s cultural interactions with other
societies.

Historical incidents such as foreign invasions, trade relations, and colonialism have played a
role in introducing certain foods to the country. For instance, potato, a staple of the diet in
some regions of India, was brought to India by the Portuguese, who also introduced chilies
and breadfruit. Indian cuisine has shaped the history of international relations; the spice trade
between India and Europe was the primary catalyst for Europe’s Age of Discovery. Spices
were bought from India and traded around Europe and Asia. Indian cuisine has influenced
other cuisines across the world, especially those from Europe, the Middle East, North Africa,
sub-Saharan Africa, Southeast Asia, the British Isles, Fiji, and the Caribbean.

Indian food is rich in flavor. However, spices do more than flavor a dish; They are also used to
cool and warm the body during hot or cold weather. Yogurt is commonly used to flavor dishes
or as a sauce to chill spicy dishes. Many Indian dishes are cooked in vegetable oil, but peanut
oil is popular in northern and western India, mustard oil in eastern India, and coconut oil along
the western coast, especially in Kerala. Gingelly (sesame) oil is common in the south since it
imparts a fragrant, nutty aroma. In recent decades, sunflower, safflower, cottonseed, and
soybean oils have become popular across India. Butter-based ghee, or deshi ghee, is used
frequently, though less than in the past.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 71
Indian food is rich in
25 1. Chilly
o 2. Flavor
/< 3. Desi ghee

< 4. Sesame oil

Question ID : 264330102084

Status : Answered

Chosen Option : 2




Comprehension:

India is a diverse nation with many different cultures. Although there are some eating habits
that are considered staples of Indian cuisine, these habits may not be practiced by all the
cultures of India. Cuisine differs across India’s diverse regions as a result of variation in local
culture, geographical location (proximity to sea, desert, or mountains), and economics. It also
varies seasonally, depending on which fruits and vegetables are ripe. Also, Middle Eastern
and Central Asian influences have occurred on North Indian cuisine from the years of Mughal
rule. Indian cuisine is still evolving, as a result of the nation’s cultural interactions with other
societies.

Historical incidents such as foreign invasions, trade relations, and colonialism have played a
role in introducing certain foods to the country. For instance, potato, a staple of the diet in
some regions of India, was brought to India by the Portuguese, who also introduced chilies
and breadfruit. Indian cuisine has shaped the history of international relations; the spice trade
between India and Europe was the primary catalyst for Europe’s Age of Discovery. Spices
were bought from India and traded around Europe and Asia. Indian cuisine has influenced
other cuisines across the world, especially those from Europe, the Middle East, North Africa,
sub-Saharan Africa, Southeast Asia, the British Isles, Fiji, and the Caribbean.

Indian food is rich in flavor. However, spices do more than flavor a dish; They are also used to
cool and warm the body during hot or cold weather. Yogurt is commonly used to flavor dishes
or as a sauce to chill spicy dishes. Many Indian dishes are cooked in vegetable oil, but peanut
oil is popular in northern and western India, mustard oil in eastern India, and coconut oil along
the western coast, especially in Kerala. Gingelly (sesame) oil is common in the south since it
imparts a fragrant, nutty aroma. In recent decades, sunflower, safflower, cottonseed, and
soybean oils have become popular across India. Butter-based ghee, or deshi ghee, is used
frequently, though less than in the past.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 72

Q.72 According to the passage, what has Middle Eastern and Central Asian influenced in
India?

Ans 2% 1.Dresses
4 2. North Indian cuisine
2% 3. Festivals
5 4. Lifestyle

Question ID : 264330102085
Status : Answered
Chosen Option : 2




Comprehension:

India is a diverse nation with many different cultures. Although there are some eating habits
that are considered staples of Indian cuisine, these habits may not be practiced by all the
cultures of India. Cuisine differs across India’s diverse regions as a result of variation in local
culture, geographical location (proximity to sea, desert, or mountains), and economics. It also
varies seasonally, depending on which fruits and vegetables are ripe. Also, Middle Eastern
and Central Asian influences have occurred on North Indian cuisine from the years of Mughal
rule. Indian cuisine is still evolving, as a result of the nation’s cultural interactions with other
societies.

Historical incidents such as foreign invasions, trade relations, and colonialism have played a
role in introducing certain foods to the country. For instance, potato, a staple of the diet in
some regions of India, was brought to India by the Portuguese, who also introduced chilies
and breadfruit. Indian cuisine has shaped the history of international relations; the spice trade
between India and Europe was the primary catalyst for Europe’s Age of Discovery. Spices
were bought from India and traded around Europe and Asia. Indian cuisine has influenced
other cuisines across the world, especially those from Europe, the Middle East, North Africa,
sub-Saharan Africa, Southeast Asia, the British Isles, Fiji, and the Caribbean.

Indian food is rich in flavor. However, spices do more than flavor a dish; They are also used to
cool and warm the body during hot or cold weather. Yogurt is commonly used to flavor dishes
or as a sauce to chill spicy dishes. Many Indian dishes are cooked in vegetable oil, but peanut
oil is popular in northern and western India, mustard oil in eastern India, and coconut oil along
the western coast, especially in Kerala. Gingelly (sesame) oil is common in the south since it
imparts a fragrant, nutty aroma. In recent decades, sunflower, safflower, cottonseed, and
soybean oils have become popular across India. Butter-based ghee, or deshi ghee, is used
frequently, though less than in the past.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 73
Q.73 Which of the following statements is not true?
Ans X 1. Deshi ghee, is used frequently, though less than in the past

#5 2. Yogurt is commonly used to flavor dishes
¢# 3. Potato was brought to India by the French

< 4. Spices are also used to cool and warm the body during hot or cold weather

Question ID : 264330102086
Status : Answered
Chosen Option : 3




Comprehension:

India is a diverse nation with many different cultures. Although there are some eating habits
that are considered staples of Indian cuisine, these habits may not be practiced by all the
cultures of India. Cuisine differs across India’s diverse regions as a result of variation in local
culture, geographical location (proximity to sea, desert, or mountains), and economics. It also
varies seasonally, depending on which fruits and vegetables are ripe. Also, Middle Eastern
and Central Asian influences have occurred on North Indian cuisine from the years of Mughal
rule. Indian cuisine is still evolving, as a result of the nation’s cultural interactions with other
societies.

Historical incidents such as foreign invasions, trade relations, and colonialism have played a
role in introducing certain foods to the country. For instance, potato, a staple of the diet in
some regions of India, was brought to India by the Portuguese, who also introduced chilies
and breadfruit. Indian cuisine has shaped the history of international relations; the spice trade
between India and Europe was the primary catalyst for Europe’s Age of Discovery. Spices
were bought from India and traded around Europe and Asia. Indian cuisine has influenced
other cuisines across the world, especially those from Europe, the Middle East, North Africa,
sub-Saharan Africa, Southeast Asia, the British Isles, Fiji, and the Caribbean.

Indian food is rich in flavor. However, spices do more than flavor a dish; They are also used to
cool and warm the body during hot or cold weather. Yogurt is commonly used to flavor dishes
or as a sauce to chill spicy dishes. Many Indian dishes are cooked in vegetable oil, but peanut
oil is popular in northern and western India, mustard oil in eastern India, and coconut oil along
the western coast, especially in Kerala. Gingelly (sesame) oil is common in the south since it
imparts a fragrant, nutty aroma. In recent decades, sunflower, safflower, cottonseed, and
soybean oils have become popular across India. Butter-based ghee, or deshi ghee, is used
frequently, though less than in the past.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 74
Q.74 How was Indian cuisine able to influence other cuisines across the world?
Ans X 1. Indians introduced the idea of coconut oi to people across the globe

¥ 2. Spices were bought from India and traded around Europe and Asia
#< 3. Indians living across the globe prepared Indian food for locals

#5 4. Indians introduced chilly food to the world

Question ID : 264330102087
Status : Answered
Chosen Option : 2




Comprehension:

India is a diverse nation with many different cultures. Although there are some eating habits
that are considered staples of Indian cuisine, these habits may not be practiced by all the
cultures of India. Cuisine differs across India’s diverse regions as a result of variation in local
culture, geographical location (proximity to sea, desert, or mountains), and economics. It also
varies seasonally, depending on which fruits and vegetables are ripe. Also, Middle Eastern
and Central Asian influences have occurred on North Indian cuisine from the years of Mughal
rule. Indian cuisine is still evolving, as a result of the nation’s cultural interactions with other
societies.

Historical incidents such as foreign invasions, trade relations, and colonialism have played a
role in introducing certain foods to the country. For instance, potato, a staple of the diet in
some regions of India, was brought to India by the Portuguese, who also introduced chilies
and breadfruit. Indian cuisine has shaped the history of international relations; the spice trade
between India and Europe was the primary catalyst for Europe’s Age of Discovery. Spices
were bought from India and traded around Europe and Asia. Indian cuisine has influenced
other cuisines across the world, especially those from Europe, the Middle East, North Africa,
sub-Saharan Africa, Southeast Asia, the British Isles, Fiji, and the Caribbean.

Indian food is rich in flavor. However, spices do more than flavor a dish; They are also used to
cool and warm the body during hot or cold weather. Yogurt is commonly used to flavor dishes
or as a sauce to chill spicy dishes. Many Indian dishes are cooked in vegetable oil, but peanut
oil is popular in northern and western India, mustard oil in eastern India, and coconut oil along
the western coast, especially in Kerala. Gingelly (sesame) oil is common in the south since it
imparts a fragrant, nutty aroma. In recent decades, sunflower, safflower, cottonseed, and
soybean oils have become popular across India. Butter-based ghee, or deshi ghee, is used
frequently, though less than in the past.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 75
Q.75 According to the passage, choose the correct synonym of the word ‘catalyst’.
Ans X 1. Micro

/< 2. Disregard
o 3. Activator
< 4. Animosity

Question ID : 264330102088
Status : Answered
Chosen Option : 3




Comprehension:

An endangered species is a type of organism that is threatened by extinction. Species
become endangered for two main reasons: loss of habitat and loss of genetic variation. A loss
of habitat can happen naturally. Dinosaurs, for instance, lost their habitat about 65 million
years ago. The hot, dry climate of the Cretaceous period changed very quickly, most likely
because of an asteroid striking the Earth. The impact of the asteroid forced debris into the
atmosphere, reducing the amount of heat and light that reached Earth’s surface. The
dinosaurs were unable to adapt to this new, cooler habitat. Dinosaurs became endangered,
then extinct. Human activity can also contribute to a loss of habitat. Development for housing,
industry, and agriculture reduces the habitat of native organisms. This can happen in a
number of different ways.

Development can eliminate habitat and native species directly. In the Amazon rain forest of
South America, developers have cleared hundreds of thousands of acres. To “clear” a piece
of land is to remove all trees and vegetation from it. The Amazon rain forest is cleared for
cattle ranches, logging, and urban use. Development can also endanger species indirectly.
Some species, such as fig trees of the rain forest, may provide habitat for other species. As
trees are destroyed, species that depend on that tree habitat may also become endangered.
Tree crowns provide habitat in the canopy, or top layer, of a rainforest. Plants such as vines,
fungi such as mushrooms, and insects such as butterflies live in the rain forest canopy. So do
hundreds of species of tropical birds and mammals such as monkeys. As trees are cut down,
this habitat is lost. Species have less room to live and reproduce.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 76

Q.76 According to the passage, which of the following are the two main reasons of species
becoming endangered species?

Ans 2% 1. Loss of sunlight and Loss of water
#< 2. Loss of roads and loss of hunting grounds
o 3. Loss of habitat and Loss of genetic variation

#5 4. Acid rain and floods

Question ID : 264330102103
Status : Answered
Chosen Option : 3

Comprehension:

An endangered species is a type of organism that is threatened by extinction. Species
become endangered for two main reasons: loss of habitat and loss of genetic variation. A loss
of habitat can happen naturally. Dinosaurs, for instance, lost their habitat about 65 million
years ago. The hot, dry climate of the Cretaceous period changed very quickly, most likely
because of an asteroid striking the Earth. The impact of the asteroid forced debris into the
atmosphere, reducing the amount of heat and light that reached Earth’s surface. The
dinosaurs were unable to adapt to this new, cooler habitat. Dinosaurs became endangered,
then extinct. Human activity can also contribute to a loss of habitat. Development for housing,
industry, and agriculture reduces the habitat of native organisms. This can happen in a
number of different ways.

Development can eliminate habitat and native species directly. In the Amazon rain forest of
South America, developers have cleared hundreds of thousands of acres. To “clear” a piece
of land is to remove all trees and vegetation from it. The Amazon rain forest is cleared for
cattle ranches, logging, and urban use. Development can also endanger species indirectly.
Some species, such as fig trees of the rain forest, may provide habitat for other species. As
trees are destroyed, species that depend on that tree habitat may also become endangered.
Tree crowns provide habitat in the canopy, or top layer, of a rainforest. Plants such as vines,
fungi such as mushrooms, and insects such as butterflies live in the rain forest canopy. So do
hundreds of species of tropical birds and mammals such as monkeys. As trees are cut down,
this habitat is lost. Species have less room to live and reproduce.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 77
Q.77 Which of the following statement is correct according to the passage given above?

Ans X 1. Development for housing, industry, and agriculture increases the habitat of native
organisms.

& 2. Aloss of habitat can happen naturally.
< 3. Development does not have any effect on habitat.

5 4. Fig trees never provide habitat for any other species

Question ID : 264330102102
Status : Answered
Chosen Option : 2




Comprehension:

An endangered species is a type of organism that is threatened by extinction. Species
become endangered for two main reasons: loss of habitat and loss of genetic variation. A loss
of habitat can happen naturally. Dinosaurs, for instance, lost their habitat about 65 million
years ago. The hot, dry climate of the Cretaceous period changed very quickly, most likely
because of an asteroid striking the Earth. The impact of the asteroid forced debris into the
atmosphere, reducing the amount of heat and light that reached Earth’s surface. The
dinosaurs were unable to adapt to this new, cooler habitat. Dinosaurs became endangered,
then extinct. Human activity can also contribute to a loss of habitat. Development for housing,
industry, and agriculture reduces the habitat of native organisms. This can happen in a
number of different ways.

Development can eliminate habitat and native species directly. In the Amazon rain forest of
South America, developers have cleared hundreds of thousands of acres. To “clear” a piece
of land is to remove all trees and vegetation from it. The Amazon rain forest is cleared for
cattle ranches, logging, and urban use. Development can also endanger species indirectly.
Some species, such as fig trees of the rain forest, may provide habitat for other species. As
trees are destroyed, species that depend on that tree habitat may also become endangered.
Tree crowns provide habitat in the canopy, or top layer, of a rainforest. Plants such as vines,
fungi such as mushrooms, and insects such as butterflies live in the rain forest canopy. So do
hundreds of species of tropical birds and mammals such as monkeys. As trees are cut down,
this habitat is lost. Species have less room to live and reproduce.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 78
Q.78 Which of the following word is the ANTONYM of the word ‘native’ used in the passage?
Ans 2% 1. Orignal

#< 2. Domestic
" 3. Exotic
5 4.Born

Question ID : 264330102105
Status : Answered
Chosen Option : 3

Comprehension:

An endangered species is a type of organism that is threatened by extinction. Species
become endangered for two main reasons: loss of habitat and loss of genetic variation. A loss
of habitat can happen naturally. Dinosaurs, for instance, lost their habitat about 65 million
years ago. The hot, dry climate of the Cretaceous period changed very quickly, most likely
because of an asteroid striking the Earth. The impact of the asteroid forced debris into the
atmosphere, reducing the amount of heat and light that reached Earth’s surface. The
dinosaurs were unable to adapt to this new, cooler habitat. Dinosaurs became endangered,
then extinct. Human activity can also contribute to a loss of habitat. Development for housing,
industry, and agriculture reduces the habitat of native organisms. This can happen in a
number of different ways.

Development can eliminate habitat and native species directly. In the Amazon rain forest of
South America, developers have cleared hundreds of thousands of acres. To “clear” a piece
of land is to remove all trees and vegetation from it. The Amazon rain forest is cleared for
cattle ranches, logging, and urban use. Development can also endanger species indirectly.
Some species, such as fig trees of the rain forest, may provide habitat for other species. As
trees are destroyed, species that depend on that tree habitat may also become endangered.
Tree crowns provide habitat in the canopy, or top layer, of a rainforest. Plants such as vines,
fungi such as mushrooms, and insects such as butterflies live in the rain forest canopy. So do
hundreds of species of tropical birds and mammals such as monkeys. As trees are cut down,
this habitat is lost. Species have less room to live and reproduce.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 79

Q.79 According to the passage, which of the following is the likely reasoning for the
dinosaurs becoming endengared and then extinct?

Ans 25 1. Earthquakes
o 2. Asteroid striking the Earth
25 3. Tsunami

< 4. Volcanic erruptions

Question ID : 264330102106
Status : Answered
Chosen Option : 2




Comprehension:

An endangered species is a type of organism that is threatened by extinction. Species
become endangered for two main reasons: loss of habitat and loss of genetic variation. A loss
of habitat can happen naturally. Dinosaurs, for instance, lost their habitat about 65 million
years ago. The hot, dry climate of the Cretaceous period changed very quickly, most likely
because of an asteroid striking the Earth. The impact of the asteroid forced debris into the
atmosphere, reducing the amount of heat and light that reached Earth’s surface. The
dinosaurs were unable to adapt to this new, cooler habitat. Dinosaurs became endangered,
then extinct. Human activity can also contribute to a loss of habitat. Development for housing,
industry, and agriculture reduces the habitat of native organisms. This can happen in a
number of different ways.

Development can eliminate habitat and native species directly. In the Amazon rain forest of
South America, developers have cleared hundreds of thousands of acres. To “clear” a piece
of land is to remove all trees and vegetation from it. The Amazon rain forest is cleared for
cattle ranches, logging, and urban use. Development can also endanger species indirectly.
Some species, such as fig trees of the rain forest, may provide habitat for other species. As
trees are destroyed, species that depend on that tree habitat may also become endangered.
Tree crowns provide habitat in the canopy, or top layer, of a rainforest. Plants such as vines,
fungi such as mushrooms, and insects such as butterflies live in the rain forest canopy. So do
hundreds of species of tropical birds and mammals such as monkeys. As trees are cut down,
this habitat is lost. Species have less room to live and reproduce.

Based on the passage above choose the correct option for the following questions.

SubQuestion No : 80
Q.80 Which of the following do not live in the canopy of the Amazon rain forests?
Ans X 1. Monkey

o 2. Crocodiles
5 3. Vines
#< 4. Butterflies

Question ID : 264330102104
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Educational Philosophy is a (1) that deals with the analysis of education's
objectives, procedures, essence, and ideologies. It is (2) a philosophy and an
educational offshoot. Education is defined as the teaching and learning of specialised

(3) , as well as the instilling of awareness, judgement, and knowledge and
understanding, and (4) a much broader spectrum than the societal institute of
higher education that we frequently communicate (5)

SubQuestion No : 81
Q.81 Select the most appropriate option to fill in blank 1.
Ans X 1.coinage

5 2. data
< 3. word
o 4. term

Question ID : 26433060836
Status : Answered
Chosen Option : 4




Q.82
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Educational Philosophy is a (1) that deals with the analysis of education's
objectives, procedures, essence, and ideologies. It is (2) a philosophy and an
educational offshoot. Education is defined as the teaching and learning of specialised

(3) , as well as the instilling of awareness, judgement, and knowledge and
understanding, and (4) a much broader spectrum than the societal institute of
higher education that we frequently communicate (5)

SubQuestion No : 82
Select the most appropriate option to fill in blank 2.
25 1. concurrently

5 2. among

25 3. similarly
& 4. both

Question ID : 26433060837
Status : Answered
Chosen Option : 4

Q.83
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Educational Philosophy is a (1) that deals with the analysis of education's
objectives, procedures, essence, and ideologies. It is (2) a philosophy and an
educational offshoot. Education is defined as the teaching and learning of specialised

3) , as well as the instilling of awareness, judgement, and knowledge and
understanding, and (4) a much broader spectrum than the societal institute of
higher education that we frequently communicate (5)

SubQuestion No : 83
Select the most appropriate option to fill in blank 3.
5 1. codes

< 2. norms
o 3. skills
2% 4. branches

Question ID : 26433060838
Status : Answered
Chosen Option : 3

Q.84
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Educational Philosophy is a (1) that deals with the analysis of education's
objectives, procedures, essence, and ideologies. It is (2) a philosophy and an
educational offshoot. Education is defined as the teaching and learning of specialised

3) , as well as the instilling of awareness, judgement, and knowledge and
understanding, and (4) a much broader spectrum than the societal institute of
higher education that we frequently communicate (5)

SubQuestion No : 84
Select the most appropriate option to fill in blank 4.
5 1. defines

25 2. indicates

25 3. signals

o 4. encompasses

Question ID : 26433060839
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Educational Philosophy is a (1) that deals with the analysis of education's
objectives, procedures, essence, and ideologies. It is (2) a philosophy and an
educational offshoot. Education is defined as the teaching and learning of specialised

(3) , as well as the instilling of awareness, judgement, and knowledge and
understanding, and (4) a much broader spectrum than the societal institute of
higher education that we frequently communicate (5)

SubQuestion No : 85
Q.85 Select the most appropriate option to fill in blank 5.
Ans 2% 1.to

& 2.0n
o 3. with

5 4. for

Question ID : 26433060840
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The G20, or Group of Twenty, is an international forum which (1) 19 countries and
the European Union (EU). It focuses on significant global economic challenges such as
international financial (2) , climate change mitigation, and (3)
development. In 1999, the G20 was formed in (4) to various global economic
crises. The G20 (5) itself the principal arena for international economic and
financial cooperation during its 2009 meeting.
SubQuestion No : 86

Q.86 Select the most appropriate option to fill in blank number 1.

Ans X 1. accounts for
5 2. covers
/< 3. adds

o 4. comprises

Question ID : 26433070640
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The G20, or Group of Twenty, is an international forum which (1) 19 countries and
the European Union (EU). It focuses on significant global economic challenges such as
international financial (2) , climate change mitigation, and (3)
development. In 1999, the G20 was formed in (4) to various global economic
crises. The G20 (5) itself the principal arena for international economic and
financial cooperation during its 2009 meeting.
SubQuestion No : 87

Q.87 Select the most appropriate option to fill in blank number 2.

Ans X 1. solidity
25 2. literacy
4 3. stability

& 4. permanence

Question ID : 26433070641
Status : Answered
Chosen Option : 3




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The G20, or Group of Twenty, is an international forum which (1) 19 countries and
the European Union (EU). It focuses on significant global economic challenges such as
international financial (2) , climate change mitigation, and (3)
development. In 1999, the G20 was formed in (4) to various global economic
crises. The G20 (5) itself the principal arena for international economic and
financial cooperation during its 2009 meeting.
SubQuestion No : 88

Q.88 Select the most appropriate option to fill in blank number 3.

Ans & 1.sustainable
5 2. overall
< 3. limited

< 4. continuous

Question ID : 26433070642
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The G20, or Group of Twenty, is an international forum which (1) 19 countries and
the European Union (EU). It focuses on significant global economic challenges such as
international financial (2) , climate change mitigation, and (3)
development. In 1999, the G20 was formed in (4) to various global economic
crises. The G20 (5) itself the principal arena for international economic and
financial cooperation during its 2009 meeting.
SubQuestion No : 89

Q.89 Select the most appropriate option to fill in blank number 4.

Ans X 1. retaliation
5 2. reply
o 3. response
& 4. result

Question ID : 26433070643
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The G20, or Group of Twenty, is an international forum which (1) 19 countries and
the European Union (EU). It focuses on significant global economic challenges such as
international financial (2) , climate change mitigation, and (3)
development. In 1999, the G20 was formed in (4) to various global economic
crises. The G20 (5) itself the principal arena for international economic and
financial cooperation during its 2009 meeting.
SubQuestion No : 90

Q.90 Select the most appropriate option to fill in blank number 5.

Ans X 1.values
o 2. designated

< 3. appointed
5 4. offered

Question ID : 26433070644
Status : Answered
Chosen Option : 2




Q.91
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Calcium supplements, commonly (1) women are helpful (2) warding off
osteoporosis. More than just (3) grams a day, (4) , can lead to stomach
upset and even kidney stones. Niacin proven in reducing cholesterol levels can be dangerous
(5) doses to those who suffer from heart problems.

SubQuestion No : 91
Select the most appropriate option to fill in blank number 1.
< 1. are taken by

#5 2. will be taken by
< 3. have been taken by
o 4. taken by

Question ID : 26433072704
Status : Answered
Chosen Option : 4

Q.92
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Calcium supplements, commonly (1) women are helpful (2) warding off
osteoporosis. More than just (3) grams a day, (4) , can lead to stomach
upset and even kidney stones. Niacin proven in reducing cholesterol levels can be dangerous
(5) doses to those who suffer from heart problems.

SubQuestion No : 92
Select the most appropriate option to fill in blank number 2.

& 1.in
5 2. by
< 3. out
< 4.into

Question ID : 26433072705
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Calcium supplements, commonly (1) women are helpful (2) warding off
osteoporosis. More than just (3) grams a day, (4) , can lead to stomach
upset and even kidney stones. Niacin proven in reducing cholesterol levels can be dangerous
(5) doses to those who suffer from heart problems.

SubQuestion No : 93

Q.93 Select the most appropriate option to fill in blank number 3.

Ans

o 1. afew
25 2. sum
& 3. few
X 4. little

Question ID : 26433072706
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Calcium supplements, commonly (1) women are helpful (2) warding off
osteoporosis. More than just (3) grams a day, (4) , can lead to stomach
upset and even kidney stones. Niacin proven in reducing cholesterol levels can be dangerous
(5) doses to those who suffer from heart problems.

SubQuestion No : 94
Q.94 Select the most appropriate option to fill in blank number 4.
Ans X 1. whoever

25 2. whatever
5 3. ever
«" 4. however

Question ID : 26433072707
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Calcium supplements, commonly (1) women are helpful (2) warding off
osteoporosis. More than just (3) grams a day, (4) , can lead to stomach
upset and even kidney stones. Niacin proven in reducing cholesterol levels can be dangerous
(5) doses to those who suffer from heart problems.

SubQuestion No : 95
Q.95 Select the most appropriate option to fill in blank number 5.
Ans 25 1.in little

& 2.inlarge
£5 3. in big
#5 4.in huge

Question ID : 26433072708
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Butterflies (1) body parts. The head, the thorax and the abdomen. They have four
wings and six legs attached to the thorax. The colours and patterns (2) a butterfly’s
wings (3) them to blend (4) its surrounding and protects it from its
predators. Proboscis helps (5) from the flowers.

SubQuestion No : 96
Q.96 Select the most appropriate option to fill in blank number 1.
Ans 25 1. has three

#5 2. only three
«” 3. have three
< 4. had three

Question ID : 26433072710
Status : Answered
Chosen Option : 3




Q.97
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Butterflies (1) body parts. The head, the thorax and the abdomen. They have four
wings and six legs attached to the thorax. The colours and patterns (2) a butterfly’s
wings (3) them to blend (4) its surrounding and protects it from its
predators. Proboscis helps (5) from the flowers.

SubQuestion No : 97
Select the most appropriate option to fill in blank number 2.

X1 at
< 2.up
& 3.0n
X 4.in

Question ID : 26433072711
Status : Answered
Chosen Option : 3

Q.98
Ans

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Butterflies (1) body parts. The head, the thorax and the abdomen. They have four
wings and six legs attached to the thorax. The colours and patterns (2) a butterfly’s
wings (3) them to blend (4) its surrounding and protects it from its
predators. Proboscis helps (5) from the flowers.

SubQuestion No : 98
Select the most appropriate option to fill in blank number 3.
< 1. rescue

«" 2. help
5 3. improve
< 4.save

Question ID : 26433072712
Status : Answered
Chosen Option : 2

Q.99
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Butterflies (1) body parts. The head, the thorax and the abdomen. They have four
wings and six legs attached to the thorax. The colours and patterns (2) a butterfly’s
wings (3) them to blend (4) its surrounding and protects it from its
predators. Proboscis helps (5) from the flowers.

SubQuestion No : 99
Select the most appropriate option to fill in blank number 4.

& 1.0n

#< 2. at with
7< 3. with
" 4.in with

Question ID : 26433072713
Status : Answered
Chosen Option : 3




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Butterflies (1) body parts. The head, the thorax and the abdomen. They have four
wings and six legs attached to the thorax. The colours and patterns (2) a butterfly’s
wings (3) them to blend (4) its surrounding and protects it from its
predators. Proboscis helps (5) from the flowers.

SubQuestion No : 100
Q.100 Select the most appropriate option to fill in blank number 5.
Ans 2 1.togulp

5 2. to eat
< 3. to gobble
o 4. to drink

Question ID : 26433072714
Status : Answered
Chosen Option : 2




